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Table in text format: 

   

AIRCRAFT 

incl. transport to and from the 

airport 

COMPONENT Train  Car  Train Aircraft Sum 

Carbon dioxide kilograms 32,2 * 90,6 0,7 119,6 120,3 

Energy resource consumption liter 

gasoline equivalent 
18,1 40,2 0,38 50,2 50,6 

Particulate matter grams 8,3 10,6 0,19 11,0 11,2 

Nitrogen oxides grams 79,5 257,5 1,8 530,0 531,8 

Nonmethane hydrocarbons grams 70,8 43,9 1,8 52,5 54,3 

 

Note: Unfortunately, neither a URL to allow repeated generation, nor a “Printed” version that retains graph 

colours is available 


